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for lions are the top tourist attraction in Kenya and are protected by
law®} In addition, their numbers are decreasing.2 &113tCt,

Richard first set up a series of torches on the fence.2t Next, Richard set
up scarecrows. = &IIStCH

At night, the lights could be seen from outside the stable and took
turns flashing= E1SHCEH

Never again did lions cross Richard’s fence. Richard called his system
Lion Lights. This simple and practical device did no harm to lions& &
nk=ny
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Richard Turere was an eleven-year-old boy in Kenya when one
morning, upon entering the stable, he found that one of his family cows
had been killed. Lion attack!

Not just Richard’s family, but many of their neighbors were putting up
with the same problem.

Some people who had lost animals to the lions wanted to kill the lions
to protect their remaining cows and goats.

That, however, would have brought another problem, for lions are the
top tourist attraction in Kenya and are protected by law.

In addition, their numbers are decreasing.

Members of Richard’s family took turns guarding the cows in their
stable at night.

Still, when everyone was asleep, lions were able to get through the
fence.

Richard first set up a series of torches on the fence.

He knew lions were afraid of fire.

What he did not know was how smart lions are.

When the lions found out that no one was around, they entered the

stable and attacked the cows anyway.



12 Next, Richard set up scarecrows.

13 They were of no use, either.

14 He had to find a way to stop the lions before he lost another cow!

15 Richard observed the lions’” behavior.

16 One night, he took a torch and walked around the stable.

17 He sensed that lions were outside in the dark, but they would not come
near if they thought somebody was walking around to protect the cows.

18 Then he had an idea—a moving torch!

19 To lions, a moving torch could only mean that a person was holding it,
which would stop them from approaching the stable.

20 How, he thought to himself, could he make it appear that a torch was
moving?

21 After lots of trial and error, Richard finally created a system of flashing
LED lights, powered by an old car battery that was charged by a solar
panel.

22 Richard set the lights up along the fence.

23 At night, the lights could be seen from outside the stable and took
turns flashing, which appeared as if people were moving around with
torches.

24 Never again did lions cross Richard’s fence.

25 Richard called his system Lion Lights.

26 This simple and practical device did no harm to lions, so human beings,
cattle, and lions were finally able to make peace with one another.

27 Lion Lights also work for other wild animals.

28 Richard’s Lion Lights are now being used all over Kenya.

29 Kenneth Shinozuka was a child when a police officer brought his
grandfather home.

30 The old man had been found wandering aimlessly on the street.

31 He did not remember when and how he had gotten there.

32 It turned out that he had Alzheimer’s, a brain disease that slowly takes
away a patient’s memory and ability to think.

33 Going to middle school, Kenneth often looked after his grandfather.

34 When his grandfather got up and started to wander, Kenneth followed
him to protect him from danger.

35 Following his grandfather, he wondered whether he could do anything
more to help him.

36 His grandfather was safe when he stayed in his room.

37 The problem was that there was no way of knowing where his
grandfather would go when he left the safety of his room.

o

08 - YBM(x)

J

38 That required that someone stay with him all the time.

39 One night, a spark of hope crossed Kenneth’s mind.

40 When Kenneth watched as his grandfather got up and stepped down
onto the floor as usual, an idea struck him.

41 To walk, a person must first step down on their feet.

42 If a patient’s steps make loud noises, as if walking in wooden shoes, it
will wake up the caregiver.

43 But it will also wake up others who are sleeping nearby.

44 “No, it’s not practical,” Kenneth thought.

45 Was it possible to send some kind of signal only to the person you
wanted to wake up?

46 There must be some sensors for this purpose.

47 How could the signals be received?

48 Kenneth’s thinking started to speed up.

49 He finally came up with a system of socks with sensors in the heels
and a smartphone working as a monitor.

50 The sensors had to be thin enough to be comfortable on the bottom of
a foot.

51 After tries with several different materials, he ended up with a film
sensor operating with a small battery.

52 Next, he studied programming to code an app that would transform a
smartphone into a monitor.

53 The system Kenneth eventually created worked as it was supposed to.

54 When his grandfather started to walk, the sensors sent signals to the
paired smartphone, raising an alarm.

55 And then the smartphone worked as a monitor that showed his
grandfather’s movements.

56 Kenneth’s sensor socks were recognized at a science fair.

57 He planned to improve the device and hand it out to Alzheimer’s
patients as needed.

58 Richard and Kenneth tried to draw creative ideas from observation and
turn them into reality.

59 Richard’s careful observation of lions’ behavior eventually brought
peace to his village.

60 Kenneth’s observation of his grandfather’'s wandering led to the
creation of a device that helps people with Alzheimer’s.

61 If you observe your surroundings with fresh eyes, something great can
happen.

62 Try it. Who knows what might come of it?
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But for, would die (2) Without, wouldn’t know
3) If it were not for, could arrive
4) Were it not for, would be worried

2) If she didn’t have much work to do, she wouldn’t be busy now.
3) If he knew how to play the game, he would like the game.
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4) Because Joan doesn’t have a good art teacher, she can’t paint
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01 Host: Welcome to the “Morning Show.”

02 Today, we have Mr. Doug Fine here to talk about a sustainable way of
life.

03 Born and raised in New York, Mr. Fine bought a farm in the New Mexico
desert and moved there.

04 He wanted to see if he could live with the least consumption of fossil
fuel energy.

05 Let’s learn about his struggles to reduce his carbon emissions.

06 Hello, Mr. Fine. Would you please introduce yourself to our audience?

07 Mr. Fine: Yes. Hi, everyone. It's great to be here.

08 My name is Doug Fine, and | am a journalist.

09 I'm trying to stop using fossil fuels and live as green a life as possible.

10 Host: You said you are trying to quit using fossil fuels.

11 Why? What’s wrong with fossil fuels?

12 Mr. Fine: Well, we all know the story, don’t we?

13 We get energy mainly from burning fossil fuels, but there are a couple
of problems with that.

14 Fossil fuels are not renewable, which means that sooner or later we are
going to run out of them.

15 Also, they harm the environment.

16 When you burn fossil fuels, carbon gas is produced, which has a
harmful effect on the climate.

17 Host: Climate change is not news, but we are likely to think it's none of
our business.

18 Mr. Fine: | hadn’t taken it seriously before either.

19 While working on a documentary in Alaska, however, | realized that
climate change is serious and that I, along with everyone else, am
responsible for it.

20 | could see it with my own eyes.

21 Enormous ice sheets were melting away.

22 It struck me hard that | was sending carbon into the air whenever |
turned on the lights, drove a car, or even went shopping for food.

23 | felt | had to do something.

24 Host: So you decided to change your way of life.

25 What exactly did you do?

26 Mr. Fine: To begin with, | gave up city life.

27 Do you know what the two things in our lives that burn the most fossil
fuels are?

28 Electricity and transportation.

29 But who could live entirely without them?

30 We certainly cannot.

31 If it were not for electricity and transportation, we would have to live
like primitive people.

32 So | wanted to set up a more sustainable system of providing for them,
different from the current one that is so dependent upon fossil fuel
energy.

33 It was difficult for me to do this in a city as big as New York.

34 Host: In other words, you wanted to enjoy all the benefits of the
modern age, only with a lot less fossil fuels.

35 Mr. Fine: Exactly. As for electricity, my answer was solar energy.

36 It’s also the reason | chose New Mexico.

37 The sun shines almost all year round there.

38 Still, it was not easy for me to get electricity from sunlight.

39 Solar panels are surprisingly expensive, and | had trouble putting them
in place.

40 It was worth the effort, though.

41 Now a large part of the electricity used on my farm is provided by my
DIY solar system.

42 After going solar, my farm uses only one tenth of the fossil fuel energy
used by the average American household.

43 Host: And regarding transportation, | hear you now drive a very special
truck.

44 Mr. Fine: Yes. | came up with what | consider a brilliant idea—biofuel.

45 | bought a diesel truck and had it converted to run on vegetable oil.

46 Rudolf Diesel, the inventor of diesel engines, actually intended for
farmers to grow their own fuel.

47 These days, | no longer go to a gas station to get fuel.

48 | pay regular visits to a local Chinese restaurant and collect waste
cooking oil.

49 It does not cost money and does not send carbon into air.

50 The only problem is that the truck smells like fried chicken, and driving
it makes me terribly hungry!

51 Host: You also started farming.

52 What does food have to do with carbon reduction?

53 Mr. Fine: I'm not a farmer by trade.

54 | just try my best to grow what | eat.

55 Eating locally is another way of reducing carbon emissions.

56 Not only people but also food travels in this world of global trade.

57 The tomatoes in your lunch salad may have come from Chile.

58 To bring them to you consumed a lot of jet fuel.

59 | grow fruits and vegetables and raise some chickens for daily eggs,
just for my dinner table.

60 | also raise goats for milk and ice cream.

61 Without ice cream, my happiness couldn’t be complete!

62 Host: Are you satisfied with your life?

63 Do you think a more sustainable way of life is possible for everyone?

64 Mr. Fine: When | started this, | set three goals for myself.

65 “Use less oil. Power my life with solar energy, and eat locally.”

66 It's been only a year, but | believe I've made significant progress.

67 If we stay aware and keep trying, I'm certain that we can build a better
future.

68 Not everyone can do what | did, but everyone can, and should, try to
reduce their carbon consumption.

69 Host: Mr. Fine, thank you very much for joining us.

70 Mr. Fine: My pleasure. Thank you for having me.
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01® 02® 03 ides =& side 04® 05®
06 He is not satisfied with normal cup holders. 07 ®
08 let’s think about how to improve them 09® 0@

11® 120 13@
14 (1) whetherlif] | filled out this card[fill this card out] right
(2) Whether | will be promoted
15® 16 (1) O (2) who(m) he’s getting along well with 17 @
180 19®
20 (A) — one of his family cows had been killed
(B) = What he did not know
2103 22®
23 which would prevent them from approaching the stable
24 ® 250
26 Following his grandfather, he wondered whetherlif] he could do
anything more to help him.

27®@ 280 290 30®

02

03

04

05
06

07

08
09

2511 Of MLt

® charge(%ﬁatr) ZAZX|of 27| | HAKIS K=BHE (emit — store)
@ heel(HEX|): At o] E2 5125
® decrease(Za 6rEt) TR, Y 37|, 2= S0| HaHKX|CH

Je D7t 1SS O RS 5 %'%X[ 3SFCH

YsltCh @ sh&stCt @ H’—t ® HAlSHEE
ides((pl.) 2CH gufam] S, side(®&, &)
@ eventually(Z=): 7! = EE EI% % | ot &
@ invention(ZHE): *%'El% AR 7|A, =41, 7|1 S
® sensitive(2UZBh: &, 2=, X[ SOIA OFF 2 H3t0]| ¥
0|M0ll= LAHX|X| LUS T F=27E7t FHoHH AFMO|LE

=y
=
fon
_Ol
il
\O @
olI

IS Sh=
@ discovery(&):
A=
® take out(~2 H|AalCt
@ L= U7t Yok A
@ L= J17F o A=s
@ oL =75 Al
OF==] "‘*Oﬁram ofzf
27|= 0|t = Qto
® A28 Fol= AR =
0] + beSAt + not satisfied with ~: = ~0fl BHESIX| =Lt (ECES Lt
Efll= 23)
ST 420 2l 20|10 ooz gIZtolls “Zeiof 20| EAotAy 2t &
oish= #3Ql O@@®7F £07t= A

=

HCh= take away(~2 #iOICH 7t HESITY.

02 o Mo
re ot

ol fjo

=,
=
38 235 FHL.

HLI
:Oé
N
e
ru|o
0z
_|\J
S
=
k=)
rok
i)

Let's + SAHAE ~: ~otA (HI2tsh= HS)

AJ} H|OtSH OIO|C|0{E E11 “Z0t 211 IO D Z HIZIf= JiM Bigol &

WE o &sks B3R @ ‘IZA ofH ==l 0] £0{7h= 0] HASict

S0EQ| A0S 2= 20 @ ‘A2|7F JHRE ®Ot o2t 26| 0t = O

B2 O{ A5}t

@ the mang MYALZ FSIZZ ALH 9| 4 A HA who?t HE
StCt.

KevinO| 1 SAIQIG|, J& $49t7|S SHELE

@0l= HAE T&AL that(~2Hs Z)0] E0{7t0 LHX|0l= 25 HHAt

whetherlif](~QIX] OFX)7} S0{ZLCY,

@ JUEE Henry?Z} RIS 7487t 22340

@ Lt LE ZXLM 01015 7|8 4= USK| SHLL

® QAH= 1 SR0A & A0| QUCH= ZiS YA

20

21

22

23

® 1 Xt FUXIHHAIRIX] OfAIQIX| & K| 34CE

® 0|MY 128t 7IRHIMT Leaphorn2 A2|7 Ha|7HK| HAX| oA A2

@Y 2E HHE MHYALZ FGIEZ thats BAHBAL whichZ2 X A{Of

® JHE W 8t Ml D= FES 21 ELO|

@ Ron0| 11 AEQIH|, J= ZZ20i Boston2Z O|AL ]

® L= oS40 & & = X Ot E A& =~ QUL

® TRIS0| 5t URf= A2 LIZE=E, J2240] 2 A2|E WL

® Jd= 31 NHAE ottt A0, 222 1 740l ZRCH

(1) ~QIX| OtHX|'2t= 2O 2 checkQ SXHQI HAIEE 0|I1=
whether[if|S 0|25t}

(2) ‘~QIX| OFHXI2H= SEOZ F0{Q1 AHES 0|E
et

®9] whiche & 2%

HHE MEALZE F ST

@ Ltz OFXE YX| oh=0, O 7AZ0)| Lt

@uUoRs2 %*011 OFF A2 20|, X2 &Xt= AS g st
22| MU= tistoll CH A=, IR 1960 A0l 2 =& A0|AULCH.

@ Lt= 3ol 2 7KK S8 of T, IR ots

® New ZealandQ| & M &£ AucklandEH], 29 HHS ‘Shofjo] =
Alo|Ct,

(1) ~QIX| OfdX'2t= S22 2 wonder? SX0{Ql HAPEES 0| HEAR
if7F QoA MRACH

O MES2 £ CHE A7 ©A| Shakespeare?| OS2t

of

l—_l

olCt

(al ﬂJ]HI

b2

Ihl
M

ez

HEALE whether2 0

| AucklandE MeAtz FotLl, UHXlE 25 o 2%

(2) & 2H9 his new roommateE F7IHO =2 MYot= BAAES 0181
OO thatg SXZ A BAL who(m)Z X MOf StCt
Peter= LIOIA| Z12] A EM|O|E0) CHaH L3H=0l, 2= M SHO|ERL &

7 @ ASH Y2 HAUBALE "HEAL + HEALZ B & o= ULt

S|
Jd= 2 HY RAHHHRE AL, DARS2 I °_|7|E S| ZUATH
Abw

hatO] S0/t LIHX|0fl= 25 BARE &AL whether[if] 7t

O J4= HELD 4 E2X] 7t A 2X| 20| SURATY.

@ d= HoA 1 8 X=2HE

@ 47t Y I20 & AAX| %.*

@ L= AotL W7t RS HHte

® MYESE2 227t 20| Ti5 LS LII=XIE

‘IECHE ZHME 07| Aoty 2= WEOIEE ©

brought(OF7|34CH M2 HHY AJOF i,

(A) Tone of + 5= HAL, TEO|EE cowE cowsE 1A MO ST,

(B) 2% 0f A&t ot= HAIEES 0|80 Fo| 24X Ho| 0|0XEZ2
ThatS A YA What 22 TX MOF ST,

AIRFE 8f7] 2ol 51=~0tH| = M2 AZQIQUCHs LIBOIZE @ 7tS0=

ST et7H2O|0f| 51==0tH[7t QUCH = 22| HA| SE1t FRSIT.

@9 ife Ttef ~2tH 0|2t= 22| BAFE H&EA0| L, LMK 25 ~Ql

HXP2h= 2o BARE FLEALO|CY,

Io

0

© Hats ot MY tiH[st2t. (218 &)
@ X7t Igd-EOﬂ £oh=A 9W01|71| =oAL,

@ = Hf—. I LHRRIX| %O.JXI =UE 5
® 1 HE2 HAY0| SLEXE 21 ALt
o =T HANE B2 2ok HAMES 0|I= A HBA whichE 0]



24

25

26

27

28

29
30

55 2ol

fll SSOIAIE S22t UL, S AlLF HHOIM AL
0l S0{7h= 20| XA
SICY.

@ ‘LAY 2= 2J0|9] require FHOi| 2 that®2 "that + =0 (+ should)

+ SAHE™, 2 HEHE F[GIEE should2 1A ML} ALK Sl{OF it

~QIX| Ot X2tz 222 wondered?] SX0{Q BAEES 0|l HEHA
whetherlif|S 0|2&tTt.
SO X7t H= AE & F 010|C] 017} HERTH= L& Foll (B)OIM 252
CHAIQl & CIHOIMSE] 210] AJZIE|0f (A)OIA] 2EXte] ZZ0]| A|T12{ T
SXHE g A0|2t= A= ALVt SHEHECE (D)OIA ESAHERE OfL 2t CHE
AZETH| g = JUChs SES TSl DX E (O0IM 232 485
O|X| Roictn A=

(A) ERIE M2zt EX))0| MHsICt. (routine: O
(o]

(B) %*%iIOH Us M0 st LHEO0|22 bottom(OFBHEE)0| HAEGtCt,
(top: SHEE)

(Q) ADIEES PLEZ HAAZICHE 0|22 transform(HHRCHO| HH
SICt. (transfer: 7|0}
= creative ideasE 7t2|7|11 LHHX|= 25 Sensor SocksE 72| 7ICt.
@ HO Try it.0IM it2 0T 2&E 7t2|7|22 FOT 2EES @0 E017h=
de[ PSP Ol.l:l-

p.163~171

01® 02® 04 ®
050 06 I’'m concerned that our planet will be buried in trash
07 @ 08 ®

09 It is essential to use fewer plastic items in our daily lives.
120

14 It is dangerous for children to play in the street.

15® 16 ®

17 (1) But for the meat sauce, the dish would not be completed.

03 emit[item / mite / time]

100

11 (1) we could save some time (2) O 13®@

(2) Without the mobile application, we could not watch the 4k
movie in the smartphone.
180 190 20®
21 227 2 3t H=E HY HHXIE 2= A 220
23 It was difficult for me to do this in a city as big as New York.
24 @ 25® 26 @ 27®
28 @ — Not only people but also food travels
® — If it were not for ice cream E= Were it not for ice cream
29®
30 257} Fine M7t {H NS & = QUKIEH EFIt B4 AHIE E0|7]

o e2iat 4 U, E IBA sHof it

01

02

® primitive(A| Ats]9)):

(complicated — simple)
@ convert(P§=stCh: FAHE HEECH
@ current(HRH2]): S A|7H0] LojLt
® global(MAZQL): MA ZfX|2t Azt
@ sustainable(X] ) ot
‘Fut gl 7|AIE ISt SHE UE0 2 U= olHX|2 & FE' = @ T7[0]C
X5t Alo|lE2 2 7IAE 2I5t S BHE0] E = = 0l X|2| St SEY
£ TAl JYe
O oY @ EHA

ST 7]250] Qs OFF THadh Wk Chjof 23

I |__|
I_F

»
N
ofr
o

22 - YBM(%)

03

04

05

06
07

08

09
10

emit(HiZstC}), item(&H), mite(RIE7]), time(AlZh
@ trade(R&): T AIFS| UO|L} AH

@ emission(ti&): FA7IE HiEsct= S

® melt(=Ch: Gofl ofs DAH0fIA HHMIZ HotCH

@ intend(Q=3tCh: AE E= SXO2M SATNE H ElstCt

@ Lt= 8=0| Ho{XCh

@ =251 M2 552 A0 Q&SI

® st 22U &7 E85 S220] YEECH

@ O 0|42] 2515 97| 2lal| BIALOIA =XIS FE ZO|CE (XIS FoICH)

® 02122 MX|0f o2{20te] MEL|X| Q2= MZts & 4= AL

® 19| 0+30| 25t Zig AMsts Lol ‘L= 2ot e Tisiohete e
Of A BHC,

I’'m concerned that ~: L= ~0] 20| = (ZHot= BH)

Me|7] &g E0le Al JHACHe HTiEe] Mot So3eB2 HiZitls @ Xy

282 Me|7|E F0|= £2 WHOIOF 7L £0{7H= 20| HASITE

A7 RS O HX|E HP HIMCHD OO 2 THs St of wa| RISt of|LX|

£ wMA BtEE 20| ER36I 2t F012 252 e £0{7ts 20| HE

Sict

It is essential + toF &AL ~: ~5hi= A2 QI (Y Xot= HF)

HICIS (A)S2tAE QECREE 25517 YoM, (B)ZIEHE XMES ALEstD

51 MBS 05K 20| FRBHTL.
- M @ EY - 71He

@ Ario] - 20 W7l ® SEl2iore| - A 753t

BT AHT} BT LS Aol TS FPE 22 1If + 30 + SAI] TH ~, Zof

+ EEAS ZF + SRS -, HEIS TRYE AR LIEHHCE

(1) Blo} Q2|7 DAT2S 0|SBICIE 7to] Al7HS Horst 4 9IS Hd|

(2) BroF U7} Photoshop OIS ITHR L AIEIS) gi7]i kot HHE

.
tORFATE ot SHOILE MEHO FHI7H 230| 019} CIE Tf toRHAF &

of ejojgel =g

b Aol SEOILE Y

M) T Mor + SX2,9] HEI2 M0, 20jAe] o]

fEiS LEHL= H8AL 70l & B2 Tof + 352,90 FH

in}

= 20

@ A2 FHlo] fE motct 22|E W= HHEL. (of — for)

@ 2|0 LIE = tHliFHL 2li= SE

@ URE A2S € HUXIE E&ESk= 0] EQ5tTt

@t HQB HEE Ro= A2 SQ0ITH.

©® Z UL0[% M7 LYO0|E SLTH JlH4= =S,

@ AT AFHL} HITHE= Aol CHell 7RSS AR TIf + 01 + SAS] IHAY ~,
F0| + ZSA A + SAEY -, HE O] 7YY WA= LIEHHCE

L iSd2 S5 7171 X 0t EHZAHE & + QlCt.

It2 715201011 to2 A} O[5H7F ZIF0{Q1 Mt + beSAt + F&AL + forlof] +

EX‘{?# + tol:'I'IAl- __rl._'?_ 0|9.o}-[|-
@ ‘(Bref) ~2tH -2 HIE 2h= S2of TRSR A TIf + F0 + SALS A ~,
F0| + ZSA IA™E + SAFE™ -+, FLE0|E2 had spokens spoke=
07 MOF BtCt,

@ L7t =0] ATH LU AIE L B
@ 7140] 2| =0|2tH L= 11 2535 4 Hibl.
@ U7t 21E 7IEE Z0 JUTHHE oIS Bhs 4= QS =i
@ W7t 2I=0E FetH A=s HEASA AL + U= BTl
® |71 OrF A= BISHA| = WH0f| AHTHE & 20| 42| giE BT,
Bisto| e LK=0f FEUXIX| b= A2 0EL (FHR01)
@ JimO| Wi X5 #ERS0| H=E AT (FH=01)
El7fx'0ﬂ ZEARE W= 79 AFHO|UL (HIQIEF01)
® 0] 7|1A4E 882 2Fstke As 7Fs5M ettt O15H )

23/ 2217} SO0 HCIHEE FeAspA 2t OIS0
® Li= Lie] @4t

= &2
(2X0{-QIAIHHAD

=



17 “(2ref) ~0] QICte ---g Gl 2h= 2o 7P 1bA TIf it were not for + HAL O o= gx
() ~, 0 + ZSAS] UAYH + SAHEH -, FR0IM If it were not fore @ O|AtS} Bt
Without[But for / Were it not for] 22 HHY & 4= QUC}, @ A3l =24
(1) 27| AAT}QICHH 1 Q2= g5 X| ZE . : ®EE 7B
(2) 71 DHIY O4Z2A(0|MO| QICHH Q2| ADIEZ0M 4k FEE 2421 | 23 It 7130{0|1 toHA} 0[5t7} ZIZ0{QI Mt + beSAF + HEA} + for[of] +
= Hidl. SHA + toR AL FE2 0[32tT.
18 toRHAL Si5H= SEO|LE AEHQ] Z=H|7F 20| 22012 CHE M to S ™AL 9F 24 @1 was sending carbon into the air whenever | turned on the lights,
Ol 2OjAe] =0{E ML LHEE Tfor + S, 2 HEHZ MO, 2|O0|42| 0] drove a car, or even went shopping for foodZS 2 15tCt,
7h Agtel HEO|LE HEIE L= F&AL Fl0l & < Tof + SXZ 9| SHEY 25 EiYE ME2 O HIMDD MAX| 2HH0| ASUAXITE TEA e Biet 7HX|7}
E MO @ forE M1 LIHX|= 25 of & £L URACHE SEO| MHAHREE FOT —Er”% 0l S017}= 20| X ASHCt,
@ 0 A LH XtE 25| St L= &30 26 OE Qxlg LHs dHItat= LHEO0|EE @ discoverer(HAINE
@ 3 g0 22 Bt H= F[5IT. inventor(2H7}) M= HHY MOF SHt.
® =Efet 7IX0IM O2E X|7|= AO0| Tyler0iAl= & O =Tt 27 (A) ‘EHYO] A2 & & LiLH LH2|ZICy 2t SHYUO2HE MI|E He= A 2X|
@ OtLHOII 7| 2= KOIE AlZ|THL = HF 0]7|A0|Ct, UL = HAEE LHBO0|E2 Still(T-ME S76t1) E= However(SHX|
® 1 28t M2 Ol0|C|{E 2fsH Tt L= EE5ILL. 2h7t Ao}t
19 ifi= seel FH 0 HARES 0|T= HEALRE ~QUX| OFHX[' Q| 2ojo|Tt, (B) ¢IRE 222 FRA0 7t= Al Y| 7t HAZRE 20| 2Lt= S
@ Lt= 0] T2 0| FELIX| Z25ICH (~QIX| OFHX]) 0|22 Instead(L CHAIOf)7} == Srtr
@ ZAI2 3| 20] Ot 1 A X0l S0Z = GiCh. (2Hef ~2tH) @ OFX|2t -+ AM™Oo=2
® HE0| O 04 gl K= 0] 2|9/& BUIRESUIC (Bref ~2tH) @AY e 27y
@ S5 &=0| Ot 1 A= YYo= 4l M=ESHK| b2 A0|Ct. (2t | @ HZ0] - SFX| 2k
ofF ~2}3) ; ® M - Ot it =
® HIUHST} 7|ALEX| O HE IS & 4 gl Z0|Ct, (Thef ~2tHH) © 28 @not only A but also B(A%B! OfL|2} BE)7} 3012 MO|H BOj| SALS Y|
20 Fine M= RIEHAXQI 412 7| I3l 314 HEE FASIOZ ME{1 L2350 A7|EE travel2 T4 SAf travelsE 11X MOF SHCf,
ACH= LIE0|22 BIZHoll= ® "ZATH| AH)'7FE0{7H= 20| MAESiCt © ‘(2tef) ~0] Qi --&h ’liHl' 2h= S2of 7™ 1A TIf it were not for + B
© 2letA=0l =tA AHF) ~, 0] + ZSAS] AT + SAHE -, F20IM If it were not
@ CHOt &t for= Without[But for / Were it not for] 22 HHH & 4= AS S22 were it
@AMt 58 =2 2 it were2 10X M7{Lt IfE ALK|HOF SiCt.
@ RVs AE 29 EBA HIES £0{0f SiTt= IE0|2E ® HA HIESH TH7} XHA 7S o X
21 that2 %2 We get energy mainly from burning fossil fuels& 7}t2/ZIC}, OZMEQ| H20| E o~ UL} = 22| MA| S5t FE6tTt,
22 HUist 8l5H7t =0t QK| AS 24611 7|5 BEPI MZeIChe e HE 30 Not everyone can do what | did, but everyone can, and should, try to
UACH= LIEO|ZR HIZHol= @ 7|% HEF 7F 50{7h= A0] MASHCt reduce their carbon consumption.S &1}





